
EE 201 —  HW 1.14    Name__________________________________________

In the circuit shown, use KCL, KVL, and Ohm’s law to determine the value of IS so that the the current 
through R4 is 3 mA and the voltage across R3 is 4.9 V, with the voltages and currents defined at right.  
How much power will be generated by the source? 

 

IS = __________________________________ ; PIS = __________________________________

Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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